

JOHANNESBURG STOCK EXCHANGE Currency Derivatives

Currency Futures & Options Matched Trades

					Report for 10/04/2	2014					
Matched Time	Contract Details	Product	Call/ Strik Put	e No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:05:50	\$ / R 13/06/2014	Foreign Exchange Future	(.00 1	1,000	100	100,000	10.5055		1,050,550.00 Client	Buy
8:05:50	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.5205		1,052,050.00 Client	Buy
8:05:50	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.5205		(1,052,050.00) Member	Sell
8:05:50	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	40	40,000	10.5105		(420,420.00) Member	Sell
8:05:50	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.5055		(1,050,550.00) Member	Sell
8:05:50	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.5205		(1,052,050.00) Member	Sell
8:05:50	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.5205		1,052,050.00 Client	Buy
8:16:13	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	150	150,000	10.5720		1,585,800.00 Client	Buy
8:16:13	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	150	150,000	10.5720		(1,585,800.00) Member	Sell
8:29:40	\$ / R 15/09/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.6730		(1,067,300.00) Member	Sell
8:47:58	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.5890		1,058,900.00 Member	Buy
8:47:58	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.5890		(1,058,900.00) Client	Sell
8:48:28	\$ / R 15/09/2014	Foreign Exchange Future	C	.00 1	1,000	1,000	1,000,000	10.6595		(10,659,500.00) Member	Sell
8:48:28	\$ / R 15/09/2014	Foreign Exchange Future	C	.00 1	1,000	1,000	1,000,000	10.6595		10,659,500.00 Client	Buy
8:50:24	\$ / R 15/09/2014	Foreign Exchange Future	C	.00 1	1,000	1,000	1,000,000	10.6670		(10,667,000.00) Member	Sell
8:50:24	\$ / R 15/09/2014	Foreign Exchange Future	C	.00 1	1,000	1,000	1,000,000	10.6670		10,667,000.00 Client	Buy
9:01:30	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	5	5,000	10.4864		(52,432.00) Member	Sell
9:01:30	\$ / R 13/06/2014	Foreign Exchange Future	(.00 1	1,000	12	12,000	10.4870		125,844.00 Client	Buy
9:01:30	\$ / R 13/06/2014	Foreign Exchange Future	(.00 1	1,000	12	12,000	10.4870		(125,844.00) Member	Sell
9:01:30	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.4872		(1,048,720.00) Member	Sell
9:01:30	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	5	5,000	10.4864		52,432.00 Client	Buy
9:01:30	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	100	100,000	10.4872		1,048,720.00 Client	Buy
9:01:32	\$ / R 13/06/2014	Foreign Exchange Future	(.00 1	1,000	5	5,000	10.4850		(52,425.00) Client	Sell
9:01:45	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	10	10,000	10.4850		(104,850.00) Client	Sell
9:01:58	\$ / R 13/06/2014	Foreign Exchange Future	(.00 1	1,000	25	25,000	10.4868		(262,170.00) Member	Sell
9:01:58	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	25	25,000	10.4868		262,170.00 Client	Buy
9:02:04	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	35	35,000	10.4850		(366,975.00) Member	Sell
9:02:04	\$ / R 13/06/2014	Foreign Exchange Future	C	.00 1	1,000	50	50,000	10.4850		524,250.00 Client	Buy
9:02:06	\$ / R 13/06/2014	Foreign Exchange Future	(.00 1	1,000	100	100,000	10.4830		(1,048,300.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
_											
9:02:51	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	300	300,000	10.4717		3,141,510.00 Member	Buy
9:02:51	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	300	300,000	10.4717		(3,141,510.00) Client	Sell
9:03:07	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4763		(1,047,630.00) Member	Sell
9:03:07	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4763		1,047,630.00 Client	Buy
9:05:58	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.4871		(209,742.00) Member	Sell
9:05:58	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.4871		209,742.00 Client	Buy
9:06:15	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4965		(1,049,650.00) Member	Sell
9:06:15	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4965		1,049,650.00 Client	Buy
9:07:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4800		1,048,000.00 Client	Buy
9:07:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4800		(1,048,000.00) Member	Sell
9:07:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4800		(10,480.00) Member	Sell
9:07:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	99	99,000	10.4800		(1,037,520.00) Member	Sell
9:07:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4790		1,047,900.00 Client	Buy
9:07:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4800		(10,480.00) Member	Sell
9:07:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4790		(1,047,900.00) Member	Sell
9:07:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4800		10,480.00 Client	Buy
9:09:38	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4803		524,015.00 Client	Buy
9:09:38	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	47	47,000	10.4804		(492,578.80) Member	Sell
9:09:38	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	10.4786		(31,435.80) Client	Sell
9:11:32	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.6495		(5,324,750.00) Member	Sell
9:11:32	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.6495		5,324,750.00 Client	Buy
9:13:04	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4745		(523,725.00) Member	Sell
9:13:04	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4745		523,725.00 Client	Buy
9:14:29	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.4743		(52,371.50) Member	Sell
9:14:29	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.4743		52,371.50 Client	Buy
9:14:54	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4700		(1,047,000.00) Member	Sell
9:14:54	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4700		(523,500.00) Member	Sell
9:14:54	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4700		523,500.00 Client	Buy
9:15:17	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.4673		41,869.20 Member	Buy
9:15:17	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.4673		(41,869.20) Client	Sell
9:19:30	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.4707		52,353.50 Member	Buy
9:19:30	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.4707		(52,353.50) Client	Sell
9:26:10	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	10.4729		628,374.00 Member	Buy
9:26:10	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	10.4729		(628,374.00) Client	Sell
9:27:05	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.4750		(209,500.00) Client	Sell
9:27:05	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.4750		209,500.00 Client	Buy
9:31:42	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.4750		52,375.00 Client	Buy
9:31:42	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.4750		(52,375.00) Client	Sell
9:32:35	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	65	65,000	10.4750		680,875.00 Member	Buy
9:32:35	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	65	65,000	10.4750		(680,875.00) Client	Sell
9:34:58	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	80	80,000	10.4821		(838,568.00) Member	Sell
9:34:58	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	80	80,000	10.4821		838,568.00 Client	Buy
0.04.00	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	20,000	20,000,000	10.4821		209,600,000.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:35:19	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	20,000	20,000,000	10.4800		(209,600,000.00) Member	Sell
9:36:32	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.4812		5,240,600.00 Member	Buy
9:36:32	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.4812		(5,240,600.00) Member	Sell
9:36:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.4812		(2,096,240.00) Member	Sell
9:36:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.4812		2,096,240.00 Member	Buy
9:38:06	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.4808		(104,808.00) Member	Sell
9:39:27	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,272	1,272,000	10.6032		13,487,270.40 Client	Buy
9:39:27	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	338	338,000	10.6032		3,583,881.60 Client	Buy
9:40:29	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4826		(524,130.00) Member	Sell
9:40:29	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4826		524,130.00 Client	Buy
9:44:24	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	195	195,000	10.4863		2,044,828.50 Member	Buy
9:44:24	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	195	195,000	10.4863		(2,044,828.50) Member	Sell
9:55:04	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4000		(1,068,200.00) Member	Sell
9:55:04	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.6820		1,068,200.00 Client	Buy
9:55:37	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	140	140,000	10.4904		(1,468,656.00) Member	Sell
9:55:37	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	140	140,000	10.4904		1,468,656.00 Client	Buy
9:55:37	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	600	600,000	10.4899		6,293,940.00 Client	Buy
9:55:37	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	2,760	2,760,000	10.4915		28,956,540.00 Client	Buy
9:55:37	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	600	600,000	10.4899		(6,293,940.00) Member	Sell
9:55:37	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	2,760	2,760,000	10.4915		(28,956,540.00) Member	Sell
10:00:27	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	10.4845		(10,484,500.00) Client	Sell
10:00:27	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	10.4845		10,484,500.00 Member	Buy
10:04:37	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.4884		(2,097,680.00) Member	Sell
10:04:37	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.4884		2,097,680.00 Member	Buy
10:09:34	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.4925		(5,246,250.00) Member	Sell
10:09:34	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.4925		5,246,250.00 Member	
10:10:59	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	2	2,000	10.4923		(21,006.60) Member	Buy Sell
10:10:39	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5061		(1,050,610.00) Member	Sell
10:19:11	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5061		1,050,610.00 Client	Buy
10:20:47	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	40	40,000	10.5035		(420,140.00) Member	Sell
10:20:47	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	40	40,000	10.5035		420,140.00 Client	Buy
10:20:47	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,500	1,500,000	10.8395		(16,259,250.00) Member	Sell
10:21:06	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,500	1,500,000	10.8395		16,259,250.00 Client	Buy
10:27:44	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000	10.4992		(10,499.20) Member	Sell
10:27:44	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4992		10,499.20 Client	_
10:27:44	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.4992		5,252,850.00 Member	Buy Buy
10:41:08	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.5057		(5,252,850.00) Member	Sell
10:43:50	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	10.5086		630,516.00 Member	Buy
10:43:50	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	60 60	60,000	10.5086		(630,516.00) Client	Sell
10:43:50	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	40	40,000	10.5086		420,420.00 Member	Buy
10.55.29 11:04:18	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	40 250	250,000	10.5105		(2,628,500.00) Member	Sell
	\$ / R 13/06/2014 \$ / R 13/06/2014			1		250 250		10.5140		(2,628,500.00) Member	Sell
11:04:30	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1	1,000 1,000	250 250	250,000 250,000	10.5140		2,628,500.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11.16.55	¢ / D 12/06/2014	Foroign Exchange Euture	0.00	1	1,000	159	159,000	10.5081		(1 670 797 00) Mombor	Sell
11:16:55	\$ / R 13/06/2014	Foreign Exchange Future		1						(1,670,787.90) Member	
11:16:55	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	341	341,000	10.5084		(3,583,364.40) Member	Sell
11:26:11	\$ / R 13/06/2014	Foreign Exchange Future	0.00		1,000	10	10,000	10.5050		105,050.00 Client	Buy
11:26:11	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5050		(105,050.00) Client	Sell
11:27:08	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	2,500	2,500,000	10.5094		(26,273,500.00) Member	Sell
11:27:08	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	2,500	2,500,000	10.5094		26,273,500.00 Client	Buy
11:30:53	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.5064		(52,532.00) Member	Sell
11:34:09	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5048		105,048.00 Client	Buy
11:34:09	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5048		(105,048.00) Member	Sell
11:35:27	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.5062		(42,024.80) Member	Sell
11:35:27	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.5062		42,024.80 Client	Buy
11:42:45	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.5200		(10,520.00) Member	Sell
11:42:45	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	10.5089		31,526.70 Client	Buy
11:47:58	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.5158		(262,895.00) Member	Sell
11:47:58	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.5158		262,895.00 Client	Buy
11:50:25	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5168		1,051,680.00 Client	Buy
1:50:25	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5168		(1,051,680.00) Member	Sell
1:53:23	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.5183		(210,366.00) Member	Sell
1:53:23	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.5183		210,366.00 Client	Buy
1:55:51	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	250	250,000	10.5178		(2,629,450.00) Member	Sell
1:58:49	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5160		(105,160.00) Member	Sell
1:58:49	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5160		105,160.00 Client	Buy
1:59:35	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5178		(1,051,780.00) Member	Sell
1:59:58	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.5143		(5,257,150.00) Member	Sell
1:59:58	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.5143		5,257,150.00 Member	Buy
2:13:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5100		(1,051,000.00) Member	Sell
2:13:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5100		1,051,000.00 Client	Buy
2:13:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	885	885,000	10.8434		9,596,409.00 Client	Buy
2:13:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	885	885,000	10.8434		(9,596,409.00) Member	Sell
2:17:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5178		1,051,780.00 Client	Buy
2:17:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5178		(1,051,780.00) Member	Sell
2:20:29	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	70	70,000	10.5050		(735,350.00) Member	Sell
2:20:29	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	70	70,000	10.5050		735,350.00 Member	Buy
2:22:06	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	180	180,000	10.5050		1,890,900.00 Member	Buy
	\$ / R 13/06/2014			1							
2:22:06 2:22:24	\$ / R 13/06/2014	Foreign Exchange Future	0.00 0.00	1	1,000 1,000	180 10	180,000 10,000	10.5050 10.5000		(1,890,900.00) Member	Sell Sell
2:22:24	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1		10 5	5,000			(105,000.00) Member (52,500.00) Member	Sell
		Foreign Exchange Future			1,000			10.5000			
2:22:24	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5032		105,032.00 Client	Buy
12:22:24	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5000		105,000.00 Client	Buy
2:22:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.4975		5,248,750.00 Member	Buy
2:22:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.4975		(5,248,750.00) Member	Sell
2:26:39	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	77,858	77,858,000	10.5063		(817,999,505.40) Member	Sell
12:29:28	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.4910		104,910.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
											.,,,,	
12:29:28	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.4950		(104,950.00) Client	Sell
12:29:28	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.4910		(104,910.00) Client	Sell
12:29:28	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.4950		104,950.00 Client	Buy
12:33:51	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.4917		104,917.00 Member	Buy
12:33:51	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.4917		(104,917.00) Client	Sell
12:38:10	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	4,928	4,928,000	10.4965		(51,726,752.00) Member	Sell
12:38:10	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	515	515,000	10.4965		(5,405,697.50) Member	Sell
12:38:10	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	330	330,000	10.4965		3,463,845.00 Member	Buy
12:40:11	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.4982		52,491.00 Member	Buy
12:40:11	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.4982		(52,491.00) Client	Sell
12:41:39	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.7407		(5,370,350.00) Client	Sell
12:50:35	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.4890		(104,890.00) Member	Sell
12:50:35	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.4890		104,890.00 Client	Buy
12:52:21	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	10,000	10,000,000	339.4500		(3,394,500,000.00) Member	Sell
12:52:21	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	10,000	10,000,000	336.9500		3,369,500,000.00 Member	Buy
12:52:21	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	7,250	7,250,000	10.5631		(76,582,475.00) Member	Sell
12:52:43	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.4870		(524,350.00) Member	Sell
12:52:43	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.4870		524,350.00 Client	Buy
12:54:46	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.4840		(524,200.00) Member	Sell
2:54:46	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.4840		524,200.00 Client	Buy
12:55:11	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4800		(5,240,000.00) Member	Sell
12:55:58	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.4800		(524,000.00) Member	Sell
2:55:58	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.4800		524,000.00 Client	Buy
12:56:23	\$ / R 15/09/2014	Foreign Exchange Future	С	10.40	1	1,000	2,000	2,000,000	519.0000		(1,038,000,000.00) Member	Sell
12:56:23	\$ / R 13/05/2014	Any day expiry	C	10.10	1	1,000	1,000	1,000,000	376.0000		376,000,000.00 Member	Buy
12:56:23	\$ / R 13/05/2014	Any day expiry	C	10.90	1	1,000	1,500	1,500,000	32.0000		48,000,000.00 Member	Buy
12:56:23	\$ / R 13/05/2014	Any day expiry	C	10.40	1	1,000	1,000	1,000,000	170.0000		170,000,000.00 Member	Buy
12:59:59	\$ / R 13/06/2014	Foreign Exchange Future	Ū	0.00	1	1,000	490	490,000	10.4873		5,138,777.00 Member	Buy
12:59:59	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	300	300,000	10.4873		3,146,190.00 Member	Buy
12:59:59	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	700	700,000	10.4873		7,341,110.00 Member	Buy
12:59:59	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	300	300,000	10.4873		(3,146,190.00) Member	Sell
12:59:59	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	490	490,000	10.4873		(5,138,777.00) Member	Sell
12:59:59	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	700	700,000	10.4873		(7,341,110.00) Member	Sell
13:00:04	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4962		(5,248,100.00) Member	Sell
3:00:04	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4962		5,248,100.00 Member	Buy
3:01:32	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	110	110,000	10.4965		(1,154,615.00) Member	Sell
3:01:32	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	405	405,000	10.4905		(4,251,082.50) Member	Sell
3:01:32	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	405	110,000	10.4965		1,154,615.00 Client	Buy
13:01:32	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	405	405,000	10.4965		4,251,082.50 Client	Buy
					1							
13:02:18	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	330 330	330,000	10.4965		(3,463,845.00) Client	Sell
13:02:18	\$ / R 13/06/2014	Foreign Exchange Future		0.00		1,000	330	330,000	10.4965		3,463,845.00 Member	Buy
13:03:33	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	4,928	4,928,000	10.4965		51,726,752.00 Client	Buy Sell
13:03:33	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	4,928	4,928,000	10.4965		(51,726,752.00) Member	

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Time			Fut		Haues	Value		Nomman	FIICE	Nate	туре	Jeil
13:07:38	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4678		(261,695.00) Member	Sell
13:07:47	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	225	225,000	10.5178		(2,366,505.00) Member	Sell
13:08:27	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4678		261,695.00 Member	Buy
13:08:53	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5183		5,259,150.00 Client	Buy
13:08:53	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5183		(5,259,150.00) Member	Sell
13:09:17	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.5000		(262,500.00) Member	Sell
13:09:35	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	10.5128		2,628,200.00 Client	Buy
13:09:35	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4678		(261,695.00) Member	Sell
13:09:48	\$ / R 13/05/2014	Any day expiry	С	10.40	1	1,000	1,000	1,000,000	170.0000		170,000,000.00 Member	Buy
13:09:48	\$ / R 13/05/2014	Any day expiry	С	10.40	1	1,000	1,000	1,000,000	170.0000		(170,000,000.00) Client	Sell
13:09:51	\$ / R 13/05/2014	Any day expiry	С	10.10	1	1,000	1,000	1,000,000	376.0000		(376,000,000.00) Client	Sell
13:09:51	\$ / R 13/05/2014	Any day expiry	С	10.10	1	1,000	1,000	1,000,000	376.0000		376,000,000.00 Member	Buy
13:09:54	\$ / R 13/05/2014	Any day expiry	С	10.90	1	1,000	1,500	1,500,000	32.0000		(48,000,000.00) Client	Sell
13:09:54	\$ / R 13/05/2014	Any day expiry	С	10.90	1	1,000	1,500	1,500,000	32.0000		48,000,000.00 Member	Buy
13:09:57	\$ / R 15/09/2014	Foreign Exchange Future	С	10.40	1	1,000	2,000	2,000,000	519.0000		(1,038,000,000.00) Member	Sell
13:09:57	\$ / R 15/09/2014	Foreign Exchange Future	С	10.40	1	1,000	2,000	2,000,000	519.0000		1,038,000,000.00 Client	Buy
13:32:25	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4767		(5,238,350.00) Member	Sell
13:32:25	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4767		5,238,350.00 Member	Buy
13:49:54	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	14	14,000	10.4900		146,860.00 Member	Buy
13:49:54	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	14	14,000	10.4900		(146,860.00) Client	Sell
13:51:24	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	65	65,000	10.4914		(681,941.00) Member	Sell
13:51:24	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	65	65,000	10.4914		681,941.00 Client	Buy
13:57:39	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	165	165,000	10.4894		1,730,751.00 Member	Buy
13:57:39	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	165	165,000	10.4894		(1,730,751.00) Client	Sell
14:16:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	85	85,000	10.5124		(893,554.00) Member	Sell
14:16:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	85	85,000	10.5124		893,554.00 Member	Buy
14:27:58	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.5129		210,258.00 Client	Buy
14:27:58	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.5129		(210,258.00) Member	Sell
14:35:07	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5112		5,255,600.00 Member	Buy
14:35:07	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5112		(5,255,600.00) Member	Sell
14:36:25	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5150		1,051,500.00 Member	Buy
14:36:25	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5150		(1,051,500.00) Client	Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	172	172,000	10.5063		(1,807,083.60) Member	Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	231	231,000	10.5063		2,426,955.30 Client	Buy
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	37,934	37,934,000	10.5063		(398,545,984.20) Member	Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	857	857,000	10.5063		9,003,899.10 Client	Buy
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	395	395,000	10.5063		(4,149,988.50) Member	Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	395	395,000	10.5063		4,149,988.50 Client	Buy
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	108	108,000	10.5063		(1,134,680.40) Member	Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	177	177,000	10.5063		(1,859,615.10) Member	Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	258	258,000	10.5063		(1,859,615.10) Member (2,710,625.40) Member	Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	857	857,000	10.5063		(9,003,899.10) Member	Sell
14.00.41	ψ/ IX 10/00/2014	a oreign Exchange i uture		0.00	1	1,000	6,764	6,764,000	10.5063		(3,000,033.10) Member	Sell

Г іте 14:38:41 14:38:41			Put	Trades	Value		Nominal	Price	Rate Typ	e Sell
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10,660	10,660,000	10.5063	111,997,158.00 Clie	nt Buy
	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,961	1,961,000	10.5063	20,602,854.30 Clie	nt Buy
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	11,608	11,608,000	10.5063	(121,957,130.40) Men	nber Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	172	172,000	10.5063	1,807,083.60 Clie	nt Buy
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	116	116,000	10.5063	1,218,730.80 Clie	nt Buy
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	11,608	11,608,000	10.5063	121,957,130.40 Clie	nt Buy
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	550	550,000	10.5063	5,778,465.00 Clie	nt Buy
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	133	133,000	10.5063	(1,397,337.90) Men	nber Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	771	771,000	10.5063	(8,100,357.30) Men	nber Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,961	1,961,000	10.5063	(20,602,854.30) Men	nber Sell
14:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	550	550,000	10.5063	(5,778,465.00) Men	nber Sell
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,406	1,406,000	10.5063	(14,771,857.80) Men	nber Sell
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	133	133,000	10.5063	1,397,337.90 Clie	nt Buy
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	258	258,000	10.5063	2,710,625.40 Clie	nt Buy
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	857	857,000	10.5063	9,003,899.10 Clie	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10,660	10,660,000	10.5063	(111,997,158.00) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	301	301,000	10.5063	3,162,396.30 Clie	nt Buy
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	164	164,000	10.5063	(1,723,033.20) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	208	208,000	10.5063	(2,185,310.40) Men	nber Sell
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	475	475,000	10.5063	(4,990,492.50) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	269	269,000	10.5063	(2,826,194.70) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	771	771,000	10.5063	8,100,357.30 Clie	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	404	404,000	10.5063	4,244,545.20 Clie	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	116	116,000	10.5063	(1,218,730.80) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	6,764	6,764,000	10.5063	71,064,613.20 Clie	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	269	269,000	10.5063	2,826,194.70 Clie	2
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,406	1,406,000	10.5063	14,771,857.80 Clie	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	336	336,000	10.5063	(3,530,116.80) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	336	336,000	10.5063	3,530,116.80 Clie	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	108	108,000	10.5063	1,134,680.40 Clie	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	231	231,000	10.5063	(2,426,955.30) Men	2
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	404	404,000	10.5063	(4,244,545.20) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	301	301,000	10.5063	(3,162,396.30) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	857	857,000	10.5063	(9,003,899.10) Men	
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	134	134,000	10.5063	(1,407,844.20) Men	
1:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	164	164,000	10.5063	1,723,033.20 Clie	
4:38:41	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	475	475,000	10.5063	4,990,492.50 Clie	-
4:38:41	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	475 37,934	37,934,000	10.5063	398,545,984.20 Clie	-
4:38:41 4:38:41	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	37,934 177	37,934,000 177,000	10.5063	1,859,615.10 Clie	-
				1						-
4:38:41	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	134 208	134,000	10.5063	1,407,844.20 Clie	-
4:38:41	\$ / R 13/06/2014	Foreign Exchange Future	0.00		1,000	208	208,000	10.5063	2,185,310.40 Clie	-
4:38:42 4:38:42	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1 1	1,000 1,000	74 59	74,000 59,000	10.5063 10.5063	777,466.20 Clie 619,871.70 Clie	-

Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	86	86,000	10.5063		903,541.80 Client	Buy
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	66	66,000	10.5063		693,415.80 Client	Buy
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	83	83,000	10.5063		(872,022.90) Member	Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	59	59,000	10.5063		(619,871.70) Member	Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	96	96,000	10.5063		1,008,604.80 Client	Buy
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	74	74,000	10.5063		(777,466.20) Member	Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	96	96,000	10.5063		(1,008,604.80) Member	Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	66	66,000	10.5063		(693,415.80) Member	Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	86	86,000	10.5063		(903,541.80) Member	Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	84	84,000	10.5063		882,529.20 Client	Buy
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	61	61,000	10.5063		640,884.30 Client	Buy
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	61	61,000	10.5063		(640,884.30) Member	Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	84	84,000	10.5063		(882,529.20) Member	Sell
14:38:42	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	83	83,000	10.5063		872,022.90 Client	Buy
14:44:59	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5134		(5,256,700.00) Member	Sell
14:44:59	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5134		5,256,700.00 Member	Buy
14:48:35	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	10.5210		(15,781,500.00) Member	Sell
14:49:02	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	10.5210		(15,781,500.00) Member	Sell
14:49:02	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	10.5210		15,781,500.00 Client	Buy
14:52:40	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.5200		210,400.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	С	11.00	1	1,000	46	46,000	173.5200		7,981,920.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	1,088	1,088,000	173.5200		(188,789,760.00) Member	Sell
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	500	500,000	173.5200		(86,760,000.00) Member	Sell
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	77	77,000	173.5200		13,361,040.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	233	233,000	173.5200		40,430,160.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	500	500,000	173.5200		86,760,000.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	500	500,000	173.5200		(86,760,000.00) Member	Sell
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1	1,000	500	500,000	173.5200		86,760,000.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1	1,000	895	895,000	173.5200		155,300,400.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1	1,000	266	266,000	173.5200		(46,156,320.00) Member	Sell
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	440	440,000	173.5200		(76,348,800.00) Member	Sell
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	895	895,000	173.5200		(155,300,400.00) Member	Sell
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1	1,000	1,088	1,088,000	173.5200		188,789,760.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	C	11.00	1	1,000	955	955,000	173.5200		(165,711,600.00) Member	Sell
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1		266	266,000	173.5200		46,156,320.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1	1,000 1,000	233	233,000	173.5200		(40,430,160.00) Member	Sell
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1	1,000	955	955,000	173.5200		165,711,600.00 Client	Buy
15:05:03	\$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1	1,000	955 46	46,000	173.5200		(7,981,920.00) Member	Sell
15:05:03	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future	c	11.00	1	1,000	40	46,000	173.5200		76,348,800.00 Client	Buy
		Foreign Exchange Future	c		1				173.5200			
15:05:03	\$ / R 13/06/2014 \$ / R 13/06/2014	v v	U	11.00	1	1,000	77 50	77,000			(13,361,040.00) Member	Sell
15:11:30	\$ / R 13/06/2014	Foreign Exchange Future		0.00		1,000	50	50,000	10.5208		526,040.00 Client	Buy
15:11:30	\$ / R 13/06/2014 \$ / R 13/06/2014	Foreign Exchange Future Foreign Exchange Future		0.00 0.00	1 1	1,000 1,000	50 4	50,000 4,000	10.5208 10.4808		(526,040.00) Member 41,923.20 Client	Sell Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut	Induco	Value		Nonina	11100	Nuto	1360	
15:21:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4808		(10,480.80) Member	Sell
5:21:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4808		10,480.80 Client	Buy
15:21:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.4808		41,923.20 Client	Buy
5:21:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4808		(10,480.80) Member	Sell
15:21:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.4808		(41,923.20) Member	Sell
5:21:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.4808		(41,923.20) Member	Sell
5:21:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4808		10,480.80 Client	Buy
15:43:22	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5171		(105,171.00) Member	Sell
15:43:36	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5171		(105,171.00) Member	Sell
5:43:36	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5171		105,171.00 Client	Buy
5:46:11	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.5137		5,256,850.00 Member	Buy
5:46:11	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.5137		(5,256,850.00) Member	Sell
6:02:59	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.5200		52,600.00 Client	Buy
16:02:59	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	2	2,000	10.5200		(21,040.00) Client	Sell
6:04:04	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	10.5200		(31,560.00) Client	Sell
6:13:47	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.5226		(52,613.00) Member	Sell
6:13:47	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.5226		52,613.00 Client	Buy
6:19:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,250	1,250,000	10.5300		13,162,500.00 Client	Buy
6:19:48	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,250	1,250,000	10.5300		(13,162,500.00) Member	Sell
6:27:36	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5220		1,052,200.00 Member	Buy
6:27:36	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5220		(1,052,200.00) Client	Sell
6:28:17	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5220		105,220.00 Member	Buy
6:28:17	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	10.5206		(315,618.00) Client	Sell
6:30:52	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.6807		5,340,350.00 Member	Buy
6:31:04	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	130	130,000	10.6807		1,388,491.00 Member	Buy
6:31:34	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	195	195,000	10.5230		(2,051,985.00) Member	Sell
6:31:34	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	195	195,000	10.5230		2,051,985.00 Member	Buy
6:32:21	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6807		106,807.00 Member	Buy
6:32:21	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	120	120,000	10.6807		1,281,684.00 Member	Buy
6:32:21	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	120	120,000	10.6807		(1,281,684.00) Client	Sell
6:32:21	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6807		(106,807.00) Client	Sell
6:32:28	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	120	120,000	10.6850		1,282,200.00 Client	Buy
6:32:28	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	120	120,000	10.6850		(1,282,200.00) Member	Sell
6:34:18	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	80	80,000	10.6807		(854,456.00) Client	Sell
6:34:18	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	120	120,000	10.6807		1,281,684.00 Member	Buy
6:34:18	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	300	300,000	10.6807		(3,204,210.00) Client	Sell
6:34:18	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	300	300,000	10.6807		3,204,210.00 Member	Buy
6:34:18	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	80	80,000	10.6807		854,456.00 Member	Buy
6:34:18	\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	120	120,000	10.6807		(1,281,684.00) Client	Sell
6:51:08	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.5100		(2,102,000.00) Member	Sell
6:51:08	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.5100		2,102,000.00 Member	Buy
6:51:13	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	300	300,000	10.5100		3,153,000.00 Member	Buy
6:51:13	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	300	300,000	10.5100		(3,153,000.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
TIME			Ful		ITaues	value		Nominal	FIICE	Nate	туре	Sell
16:51:33	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5075		5,253,750.00 Member	Buy
16:51:33	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5075		(5,253,750.00) Member	Sell
16:54:21	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	3	3,000	10.5088		(31,526.40) Member	Sell
16:54:21	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	3	3,000	10.5088		31,526.40 Client	Buy
17:12:13	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.4750		(2,095,000.00) Member	Sell
17:12:25	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4800		(5,240,000.00) Member	Sell
17:22:27	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	700	700,000	10.4966		7,347,620.00 Client	Buy
17:22:27	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	700	700,000	10.4966		(7,347,620.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	1,500	1,500,000	339.4500		(509,175,000.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	1,792	1,792,000	339.4500		608,294,400.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	878	878,000	339.4500		(298,037,100.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	153	153,000	339.4500		(51,935,850.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	61	61,000	339.4500		(20,706,450.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	61	61,000	339.4500		20,706,450.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	356	356,000	339.4500		120,844,200.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	2,177	2,177,000	339.4500		(738,982,650.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	1,792	1,792,000	339.4500		(608,294,400.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	1,500	1,500,000	339.4500		(509,175,000.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	310	310,000	339.4500		105,229,500.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	1,273	1,273,000	339.4500		(432,119,850.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	310	310,000	339.4500		(105,229,500.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	1,500	1,500,000	339.4500		509,175,000.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	153	153,000	339.4500		51,935,850.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	356	356,000	339.4500		(120,844,200.00) Member	Sell
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	1,500	1,500,000	339.4500		509,175,000.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	2,177	2,177,000	339.4500		738,982,650.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	878	878,000	339.4500		298,037,100.00 Client	Buy
17:47:24	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.50	1	1,000	1,273	1,273,000	339.4500		432,119,850.00 Client	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	1,500	1,500,000	336.9500		(505,425,000.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	1,273	1,273,000	336.9500		(428,937,350.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	310	310,000	336.9500		(104,454,500.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	153	153,000	336.9500		51,553,350.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	878	878,000	336.9500		(295,842,100.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	310	310,000	336.9500		104,454,500.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	C	11.50	1	1,000	1,273	1,273,000	336.9500		428,937,350.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	C	11.50	1	1,000	356	356,000	336.9500		(119,954,200.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	C	11.50	1	1,000	61	61,000	336.9500		(20,553,950.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	C	11.50	1	1,000	1,792	1,792,000	336.9500		603,814,400.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	C	11.50	1	1,000	153	153,000	336.9500		(51,553,350.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	C	11.50	1	1,000	1,500	1,500,000	336.9500		505,425,000.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	c	11.50	1	1,000	878	878,000	336.9500		295,842,100.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	c	11.50	1	1,000	1,500	1,500,000	336.9500		505,425,000.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	c	11.50	1	1,000	1,500	1,500,000	336.9500		(505,425,000.00) Client	Sell

Page 10 of 14

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	2,177	2,177,000	336.9500	(733,540,150.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	1,792	1,792,000	336.9500	(603,814,400.00) Client	Sell
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	61	61,000	336.9500	20,553,950.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	2,177	2,177,000	336.9500	733,540,150.00 Member	Buy
17:49:35	\$ / R 12/12/2014	Foreign Exchange Future	С	11.50	1	1,000	356	356,000	336.9500	119,954,200.00 Member	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,344	1,344,000	10.5631	14,196,806.40 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	955	955,000	10.5631	10,087,760.50 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	658	658,000	10.5631	6,950,519.80 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,344	1,344,000	10.5631	(14,196,806.40) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	115	115,000	10.5631	1,214,756.50 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.5631	10,563,100.00 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.5631	10,563,100.00 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,633	1,633,000	10.5631	17,249,542.30 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	233	233,000	10.5631	2,461,202.30 Client	Buy
17:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,633	1,633,000	10.5631	(17,249,542.30) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	115	115,000	10.5631	(1,214,756.50) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.5631	(10,563,100.00) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	266	266,000	10.5631	2,809,784.60 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	233	233,000	10.5631	(2,461,202.30) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	46	46,000	10.5631	(485,902.60) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	955	955,000	10.5631	(10,087,760.50) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	46	46,000	10.5631	485,902.60 Client	Buy
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	266	266,000	10.5631	(2,809,784.60) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.5631	(10,563,100.00) Member	Sell
7:52:08	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	658	658,000	10.5631	(6,950,519.80) Member	Sell
otal Futu	ires				184		188,961	188,961,000		1 986 718 007.05	
Total Opti	ons				37		43,250	43,250,000		13 461 600 000.00	
Fotal for \$	/ R Foreign Exchange	e Future			221		232,211	232,211,000		15,448,318,007.05	
0:41:08	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	5	500,000	10.5057	5,252,850.00 Member	Buy
10:41:08	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	5	500,000	10.5057	(5,252,850.00) Member	Sell
2:59:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	20	2,000,000	10.4873	20,974,600.00 Member	Buy
2:59:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	5	500,000	10.4873	5,243,650.00 Member	Buy
2:59:59	\$ / R MAXI 15/09/2014	Foreign Exchange Future		0.00	1	100,000	5	500,000	10.6471	5,323,550.00 Member	Buy
2:59:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	10.4873	10,487,300.00 Member	Buy
2:59:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	10.4873	10,487,300.00 Member	Buy
2:59:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	10.4873	(10,487,300.00) Member	Sell
2:59:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	10.4873	(10,487,300.00) Member	Sell
2:59:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	20	2,000,000	10.4873	(20,974,600.00) Member	Sell
2:59:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	5	500,000	10.4873	(5,243,650.00) Member	Sell
		Foreign Exchange Euture		0.00	1	100,000	5	500,000	10.6471	(5,323,550.00) Member	Sell
2:59:59	\$ / R MAXI 15/09/2014	Foreign Exchange Future		0.00		100,000	5	000,000	10.0471	(3,323,330.00) MEMber	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	e No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:00:04	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	1	100,000	10.4962		(1,049,620.00) Member	Sell
13:00:04	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	1	100,000	10.4962		1,049,620.00 Member	Buy
13:00:04	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	1	100,000	10.4962		1,049,620.00 Member	Buy
13:12:13	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	5	500,000	10.4962		5,248,100.00 Member	Buy
13:12:13	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	5	500,000	10.4962		(5,248,100.00) Member	Sell
13:32:25	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	5	500,000	10.4767		5,238,350.00 Member	Buy
13:32:25	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	5	500,000	10.4767		(5,238,350.00) Member	Sell
15:46:11	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	5	500,000	10.5137		5,256,850.00 Member	Buy
15:46:11	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	5	500,000	10.5137		(5,256,850.00) Member	Sell
16:31:34	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	30	3,000,000	10.5230		(31,569,000.00) Member	Sell
16:31:34	\$ / R MAXI 13/06/2014	Foreign Exchange Future	C	0.00 1	100,000	30	3,000,000	10.5230		31,569,000.00 Member	Buy
Total Futu	ires			12		102	10,200,000			107 180 790.00	
Total Opti	ons										
Total for \$	/ R MAXI Foreign Exch	nange Future		12		102	10,200,000			107,180,790.00	
9:14:24	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	2	2,000	17.5810		35,162.00 Client	Buy
9:14:24	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	2	2,000	17.5810		(35,162.00) Member	Sell
10:10:57	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	50	50,000	17.6194		(880,970.00) Member	Sell
10:10:57	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	50	50,000	17.6194		880,970.00 Client	Buy
10:20:35	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	27	27,000	17.6276		(475,945.20) Member	Sell
10:20:35	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	27	27,000	17.6276		475,945.20 Client	Buy
12:25:01	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	9	9,000	17.6000		(158,400.00) Member	Sell
12:25:01	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	9	9,000	17.6000		158,400.00 Client	Buy
12:53:41	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	10	10,000	17.5980		(175,980.00) Member	Sell
12:53:41	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	10	10,000	17.5980		175,980.00 Client	Buy
13:24:59	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	5	5,000	17.5750		(87,875.00) Member	Sell
14:12:16	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	5	5,000	17.5750		(87,875.00) Member	Sell
14:12:16	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	5	5,000	17.5750		87,875.00 Client	Buy
16:31:34	£ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	985	985,000	17.6390		(17,374,415.00) Member	Sell
16:31:34	£/R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	985	985,000	17.6390		17,374,415.00 Member	Buy
Total Futu	ires			8		1,091	1,090,500			19 232 684.70	
Total Opti	ons										
Total for £	/ R Foreign Exchange	Future		8		1,091	1,090,500			19,232,684.70	
9:19:15	€ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	30	30,000	14.5103		(435,309.00) Member	Sell
9:19:15	€ / R 13/06/2014	Foreign Exchange Future	C	0.00 1	1,000	30	30,000	14.5103		435,309.00 Client	Buy
10:14:45	€ / R 13/06/2014	Foreign Exchange Future		0.00 1	1,000	1	1,000	14.5518		14,551.80 Member	Buy
10:14:45	€ / R 13/06/2014	Foreign Exchange Future		0.00 1	1,000	1	1,000	14.5518		(14,551.80) Client	Sell
12:05:48	€ / R 13/06/2014	Foreign Exchange Future		0.00 1	1,000	100	100,000	14.5725		1,457,250.00 Member	Buy
12:05:48	€ / R 13/06/2014	Foreign Exchange Future		0.00 1	1,000	100	100,000	14.5725		(1,457,250.00) Client	Sell
		5	-		.,		,			· · · · · · · · · · · · · · · · · · ·	

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:59:59	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	14.5453		(14,545,300.00) Member	Sell
13:00:04	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.5588		(145,588.00) Member	Sell
3:00:04	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.5588		(145,588.00) Member	Sell
3:00:04	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.5588		145,588.00 Member	Buy
3:00:04	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.5588		145,588.00 Member	Buy
3:26:23	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	14	14,000	14.5374		203,523.60 Client	Buy
3:26:23	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	14	14,000	14.5374		(203,523.60) Member	Sell
3:32:13	€ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.7500		(295,000.00) Member	Sell
3:32:13	€ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.7500		295,000.00 Client	Buy
6:15:54	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.5900		1,459,000.00 Member	Buy
6:15:54	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.5900		(1,459,000.00) Client	Sell
6:16:15	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	22	22,000	14.5934		(321,054.80) Client	Sell
6:16:15	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	22	22,000	14.5934		321,054.80 Member	Buy
6:31:34	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	14.5903		(14,590,300.00) Member	Sell
6:31:34	€/R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	14.5903		14,590,300.00 Member	Buy
Total Futures				11		2,307	2,307,000			33 612 465.20	
otal Opti	ons										
Total for € / R Foreign Exchange Future				11		2,307	2,307,000			33,612,465.20	
2:03:37	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	250	250,000	9.8792		2,469,800.00 Member	Buy
2:03:37	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	250	250,000	9.8792		(2,469,800.00) Member	Sell
5:00:30	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	9.8411		(590,466.00) Client	Sell
5:00:30	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	9.8411		590,466.00 Member	Buy
5:23:10	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	9.8500		591,000.00 Member	Buy
5:23:10	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	9.8500		(591,000.00) Member	Sell
5:45:24	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	9.8450		492,250.00 Member	Buy
5:46:11	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	250	250,000	9.8491		2,462,275.00 Member	Buy
5:46:11	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	250	250,000	9.8491		(2,462,275.00) Member	Sell
5:46:16	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	9.8450		(492,250.00) Client	Sell
5:46:16	AU\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	9.8450		492,250.00 Member	Buy
6:30:34	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	680	680,000	9.9546		(6,769,128.00) Member	Sell
6:35:01	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	130	130,000	9.9546		(1,294,098.00) Member	Sell
6:35:01	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	120	120,000	9.9546		(1,194,552.00) Member	Sell
6:35:01	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	9.9546		(995,460.00) Member	Sell
6:35:01	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	330	330,000	9.9546		3,285,018.00 Client	Buy
6:35:01	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	130	130,000	9.9546		1,294,098.00 Client	Buy
6:35:01	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	9.9546		995,460.00 Client	Buy
6:35:01	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	330	330,000	9.9546		(3,285,018.00) Member	Sell
0.00.0.											
6:35:01	AU\$ / R 15/09/2014	Foreign Exchange Future	0.00	1	1,000	120	120,000	9.9546		1,194,552.00 Client	Buy

Matched Contract Details Time	Product Ca Pu		, ,	Quantity	Foreign Nominal	Traded Price	Spot Premium Value 1 Rate 1	rade Buy/ ype Sell
Total Futures		10		1,715	1,715,000		17 005 608.00	
Total Options				.,	-,,			
Total for AU\$ / R Foreign Exchang	je Future	10		1,715	1,715,000		17,005,608.00	
Total Futures		224		194,176	204,273,500		2 163 749 554.95	
Total Options		37		43,250	43,250,000		13 461 600 000.00	
Grand Total for all Instruments	3	261		237,426	247,523,500	15,625,349,554.95		